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QUESTION 1

What functions are within the application layer of Intelligent Law Enforcement?
A. Crime management. Crime analysis, Identity resolution

B. Social Media status

C. Intelligence data model

D. None of the above

Correct Answer: C

Reference: http://www.redbooks.ibm.com/redpapers/pdfs/redp5130.pdf

QUESTION 2

The IAP command services push events to:
A. Search Index

B. Event Management platform

C. Event Listener

D. The Event Bus

Correct Answer: C

QUESTION 3

What are the layers of the i2 Service Oriented Architecture?
A. Data Layer

B. Service Layer

C. Client Layer

D. All of the above

Correct Answer: D

QUESTION 4
IBM i2 Healthcare solution is designed to detect and analyze the multitude of fraud schemes from both the provider and

the beneficiary side, and to alert investigators to the interrelationships between the two that can be indicative of more
sophisticated criminal fraud rings.
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A. True
B. False

Correct Answer: A

QUESTION 5

What is the largest reason to deploy IAP in an organization?

A. User interface
B. Security

C. Scalability

D. All of the above

Correct Answer: D
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